Midterm 2
Discrete Mathematics (Math 61-002)

Answer the questions in the spaces provided. If you run out of room for an answer, please
continue on the back of the page. You must show your work.
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1. Su . 4. . 1
bpose that 6 distinct integers are chosen from the set {1,2,3,...,10}. Show

ast two of those integers from the chosen six have a sum equal to 11.
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2. How many 3-digit even numbers can be formed using the digits 0, 1,2, 3,4, 5,6, 7, 8, 97

_(Warning: 012 is not a 3-digit number, since 012 = 12, but 120 is a 3-digit number and
1t is also an even number. You must show your work for this problem.)
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3. Find the number of integer solutions of the following equation

Ty + Ty + T3z = 10

subject to the conditions: 0 < z; < 6,1 < 25 < 9,23 > 0.
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4. Let a, denote the number of n-bit strings which contain the pattern 00.
&

. 4 recurrence relation that a, satisfies. Also find the necessary initial condi-
ons.
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